¥R N—4 D1
AT B EE KB & P ) sl 3 o < B X >

i ek R | # =

x5 14 B Rl i & o e A&

%o X4y (m) | ( x & F & )
IH I 7] 0. 0K+150

(O I <= =3 1V T S 7] I mo | RA TR BT 300 W1, 32, 33
JH A MU AR Y 7K 0. 4K+ 50

s 5. 8K+ 40 TA-1
2 #HE) | T (8 7| 4 TR — FERAG
ya 5. 8K+ 59. 8

R woK 16. 8K

3 HEE) LA IR K| = m | 1, 940 A3, B13, B14
oK - fm oK 18. 8k
R JwoK 18. 8K+113

4| I ﬁ%@ﬁ%fﬁ /e Mo (HEE TR 2 293 A3, B14, B15, %5
;J"gﬁ j;zEé‘ I}jj 19. 2k
I NI VN 20.2k | TR 4 1T

5 | B | EEHRIEAK| £ Mo 778 A3, B14, BT
B e %3} 20. 8K+179. 4 |{fEiE: v Vg T A L
I NI VN 23. dk+88  |YfIEER TT AR T A4S

6 H2E) i o 1,841|  A6,B16, 10, 511
i A M AR VR K 25.4k |V T T T M B
R woK 6.6k  |ZA T bz g H

T B BRI K A | e 1,385) ot ok roo g1
BRI oK 7.8K+220 | Ze TH PR
L NI B/ 114K

8 | AL e me|FA TSR AR 148 A10, B32
JH A MU A Y 7K 11. 6K
R woK 11. 8K

9 | AL e me |FA TSR AR 123 A10, B33
BRI oK 12. 0K




¥R N—4 D1
SRNTHREE (BRI EE K Bt pirieT ) 1

5 < R X fH] >

i s w8 | @ o=

x4 )4 BB |[Ro| i & o 4

H X5y (m) | ( % 8 F 5 )
F A H AR IR 7K 19, 8K+100

10 | H2E) + Mo | T 4L 200 Al1,B37
oK - iR oK 20. 0K+100

B : 5,05 2m
aE 1 0y 7,008

—®ERk:1,956m




¥R N—4 D1
AT B EE KB & P ) sl 3 o < B X >

i ek EE | M =

SEJIRCPIE ooB R i & o e 4

R 2 X4y (m) ( ﬂ‘ % %’? % )
wmae) | R OK 0. 8k

11 Eﬁgi&{%ji +H B EZ e ZE I 807 A18, B46, F19, 5220
WETEID) | 82 Bh 1. 6k

ik 1fEpr | =ER . 1ET 807| =& : 80 7m




HX—4m2

ARNTAERE  (EEEAT ) EE 2 K B & Arin] ) R < AR LIS >
(EZEE  A)
P Eh =S i 5
x4 )14 B REo| AL o 4
F5 X4y (m) | C & BF T &)
5.8k A TR
| B[R - i K| & mo 727 TR 2
6.6k |FA TR AT IS H
7.0k | Fed T R ET P A
2 | Bk - ¥R K| & mo 672 TR 2
6k |FRATIEBITTA
136k |YfEEE TR
3| HE)IOE KR OK| E o 7638 TR f i
20. 8c+179. 4 YL T VLT 75 /)N
16. 2k
4 | 2RI LA TR K| £ mh WAL B 217 PR ¥ T
16. 4k
16. 6k
5 | BB |REEHUR N K| & Mo WY T 186 PR T
16. 8k
23.2k+200 |V TTIAREE R i 2
6 | HE) PR K W K| £ "o 1, 841 TR f i
25.4k (VR TV FET G
25.6k (ViR T V- FHET G
T )RR R OK| E o 821 TR f i
26.4k (VR TTT-HETS 2
25. 6k
8 | HHZBJI e TR K| £ mb W T B 241 PR ¥ T
25. 8k
A ZEHE 2 fEr =& :1,399m
7 8 T 12, 343
I IR 6 FE AT BV . 10,944m




HX—4m2

ARNTAERE  (EEEAT ) EE 2 K B & Arin] ) R < AR LIS >
(EZEE  A)
it Eh = 1 5
x4 )14 Bl Rl i & o 4
F5 X4y (m) | C & BF T &)
6.6k |FA bz
9 | HE)N PR K W K| A Mo 975 HE B O M v
7. 6k ST AR SRR
.8k |FATIHIK b
10| L) O[FE K W OK| A Mo 8, 684 HR B O M v
16.6k+50 | S T 2 BEMT HOPE BRI
19. 6k
1| I (SRR R K| A Mo TR R 443|  BESSTRIE - SRS
20. 0k
20. 2k
12 | B O[BE K W K| A e | HEHETT R (L 218|  HRSBIEE - AURRES
20. 4k
20. 8k
13| B[R K W K| A Mo | HEHET T LR 391 HE B O M v
21. 2k -j‘/\“bﬁgzi%
20. 8k
14| HI)I (SRR K A e R R REETT 203 PR ¥ T
21. 0k
22. 4k
15 | B[R K W K| A e EEETT R AT 618 T e
23. 0k
22. 4k
16 | HI)I (SRRl A Mo (MR AT R 198 PR ¥ T
22. 6k
Fi =R 2 T —ZHF:9,659m
8 T 11, 730
I B IR < 6 fE T IR 2,07 1m




H—4m2
SRITHEE  EEERT )| EE E K & TR B R < TAEM LA >

(EZEE  A)
i ik i o
x| )14 & Bl Rl L & # e 4
& X4y (m) | C &K B L &)
—HE AT @R :11,058m
A& 1 6 AT 24,073
I B 1 2 T KB : 13,015m
—HBRPNER [BoK - ik 1, 399
IUSTEVIN 9, 659
FEEHAR TR 7K 0
it 11, 058
ez B WA P ER [iK - ik 0
IUSTEVIN 11, 527
FEAE AR IR K 1, 488

A 13,015




H—4m2
SRITHEE  EEERT )| EE E K & TR B R < TAEM LA >

(EEE A)
i = FiE £ i 5
g )14 (| RO L B o 4
& X4y (m) (&K B L %)
FE2E)1 0.8« |ZF&THLEERT L2k
17 oK W K| & N 1,247 HEBR D g
(B3 2.0k |F4 L EERTREIT TR fl
P
f 1A | =ER 1 & 1,247(=&EK : 1,24 7m
FE2E)1 0.0k |Z4h % EEHT R 2 40
18 IR W K| A N 1, 862 HEBR D g
(7T 2.0k |FL AL N FER TR fl
ba) =
f 1A | =ER 1 & 1,862[=®Ek: 1,86 2m
e 2T |=EE . 2T 3,109| =& : 3,109m
=SEENR [EARA 3, 109
E 3, 109




H—4m2
SRITHEE  EEERT )| EE E K & TR B R < TAEM LA >

(EEE A)
i ek S oo =
g )14 i NG| RO L B o 4
- Xy (m) (XK B L )
HZE)1| 0.0k |Z4 T EEHT L2 4%
19 (Z N N s N M 1,637 TR fi
€2:311)) L8k |F& TSR E
==
f 1A | =ER 1 & 1,637 =HEK: 1,63 7m
FE2E)1 0. 8k F4 T Z ENTRE 2 40
20 IR W K| A N 300 PR O Mgt
€2:311)) Lok |ZRA TS EERT FEHY
ba) =
5 18T [=&EE . 1P 300 =& : 300m
A 2T |ZEE: 28T 1,937[=&EK : 1,93 7m
SEIRNFR | HRRRA 1,937
E 1,937




HX—4m2
SRTHERE  EEER ) B KB & AR R E < TR LA >

(EZE B)

i A SEF i

x5 W4 Bl REo| L & e 4

&5 X 43 (m) | C & B3 L &)
2. 4K+201

L BB ORI K| & mo | RATHREITERS 40 T 1F 7 A2
2. 4K+238
2. 4K+201

2 | I |BR K - ¥R K| & me | FA TR BRTE R 40 TR 2
2. 4K+238 (FEto 5 I)
5. 6k

3| N [E oK - ¥ K| & me  |RATTEE 199 TTREA 2
5. 8k FHELo>T)
6.6k  |RATHREBITTE

4 | N K - i K| &= b 416 TSR 2
ok |FA RIS (Bito 5 T)
7.2k-107

5 | W K #Eo- e | £ mo | Fe TR IES E 48 B e T
7.2k-59
7. 6k

6 | I |8 K - ¥R K| & me | EATREBETTA 416 TR 2
8. Ok #EtoHT)
8.8k |FA TR

T I (B K - iR K| & 7o 3, 007 TR 2
1.8k |FRATHREITIRZA (FEto 5 T)
12. 0k

8 | 4B |BE K - ¥R K| & me | FEATRBETRS A 538 TFEA S
12. 4k+100 (FEto 5 I)
12. 4k+100

9 | I |B K - IR K| & e (YRR I 1,118 TR 2
13. 6k FHELo>T)
136k |V T AT

10 | ) PRI £ Mo 2, 964 A=y
162k |HEHEATHEAEETIALS T




H—4m2

DRTERE  EEERT) 1 B KB & i) 1 A2 < TR LA >
(EZE B)
i ek HE R fi o
xig| )14 il Eo| L & e 4
&5 Xy (m) (&K B I i)
15.8K |V TR T R B ELER
1| )oK - i K| & Mo 791 TTREA 2
16,4k (YR YR RT LG |T (®iLo5T)
16. 4k
12 | ) PRI K| A e [T 5 5 202 A=y
16. 6k
16.6K |V TR T R BE LR K SRR i T
13| )oK - i K| & Mo 2, 126 TTREA 2
18.8k |V T T2 (FE o5 I)
16.8k [V 5 7
14| ) PR K| A Mo 4, 069 IS ST
20. 8k+179. 4 [YfpiEE vii g EE ET AR 1L
19. 0k HERY
15 | )| oK - i K| & e MR 2 201 TR 2
19. 2k F#ELoHI)
24. 0K (YgEE v v T AR i)
16 | ) PRI K| A Mo 1,503 B O asE
25.6k  [YEEE T A R R R IRA B TR
25. 4k
17| BmEBINOPR K R K| & mE | T T B 239 T il
25. 6k
26. 2k
18 | B | K - i K| & e | EETA R 575 TFEA I
26. 8k FEtoHT)
26. 4k
19 | BB PR K R OK| & e | TSR 178 T il
26. 6k
Y= I B 1 1 T IR : 13,96 6m
| 1 9mEr 18, 670
ZHIR . STEAT —HI:4,704m




H—4m2

BRNTAELEE  EEER) | EEK PG P R E < TR LA >
(HEEE B)
it IS W=
x4 )14 Bl REo| L & e 4
& X 43 (m) | C & B3 L &)
0. 0k B ELER
20 | B B oK - ¥R K me | E iR 201 TTREA 2
0. 2k FHELo>T)
2.4K+ 160 |54 T HiER B ELERh
2t | I Bk oK - R oK o 40 TR 2
2.6k [FATREE (o5 T)
2. 4K+ 160 |Z=4 T HiUER
22 | B | K WK Mo 40 T 1F 7 A2
2.6k |4 AR
5. 8k+5 o E HERh
23 | I [BR K - ¥R oK mo | RA TR 100 TR 2
5. 8K+103 (FEto 5 I)
5. 8k+45
24 | B |3 K WK mo | RA iR 40 T 1F 7 A2
5. 8K+80
6. 2K+150 B - T EEBR LS
25 | BRI |G A MR R K me A R R 80 @A O E R T
6. 4K+ 30 (H o 1)
6.6k |FA B2 iRETH
26 | HEREE)I | LA MR R K Mo 1,395 I T
8.0k |FATH FEAHS
6. 8k W ELERh. BOKSE R E AT
21 | BRI Bk K - ¥R K me AT R R 431 TFEA I
7.2 FEtoHT)
7.6k
28 | B |3 K WK mo  [FAiEikE 190 T il
7.8k
T.8K+190 |40 T FIRAE BB
29 | HRE)I [BR K - R oK o 30 TR 2
7.8K+220 A TH FIEAHES FEtooT)




HX—4m2
SRTHERE  EEER ) B KB & AR R E < TR LA >

(HEEE B)
i A SEF i
xfg| )4 f& ol ol AL & e 4
& X%y (m) (Kx BF L ¥ )
10. 2k
30 A 1A T K LS SHTAE PRSI JBIE - s A
10. 4k
0.6k |FATAE
31 FE A A T 7K o W SR - mURE SR
12K | RA T LT R 248
11. 4k
32 L T b AR R K me |F4 T RN WSBIE « SR
11. 6K
11. 8k o E HERh
33 "o EZAE NP AR
12. Ok FELooT)
12. 8k EELEY
34 N S T2 EEHT B 2 9 R 2
13. Ok (F& Lo 5 T)
1.2k |FA T EERTRR K WELER; . Bk R T
35 Bk - Y Mo TTREA 2
16.2k  |ZeA TS EEHT S (Bt 5 T)
16. 6k+50
36 Y N »o T T e R T PR BRSEJRIE - A A
16. 8k
19.6K | T FE R ET 22T BELRDS ., BUKfERRE T
37 Bk - Y Mo TTREA 2
2l.2k VTR BRET LB (FEto > T)
21. 2k
38 Y N LS T T P YR BT _ B BESBIE - ARG A
22. 4k
21. 4K B ELERh
39 Bk - Y AN 26 i er LML S ST TTREA 2
22. 4K FELooT)




HX—4m2
SRTHERE  EEER ) B KB & AR R E < TR LA >

(EZE B)
i A SEF i
xig| )14 il Eo| L & e 4
&5 X%y (m) | C K BF I &)
22. 6K W EEERS
40 [ FEIE)I (B K - K| A e YRR 4 612 TR 2
23. 2K (FE+0 5 T)
22. 6k
ar | BN | SRR R OK| A me MR AR 420 BESSIBIE - AL R
23. 0k
23. 2k
a2 | B |2 K W OK| A e YRR 4 408 H O s v
23. 6k
23. 4K e e
43 | IR K - iR K| A Mo TR 207 TFEA I
23. 6K FEtoHT)
23. 8K HERY
a4 | BRI O|BE K - K| A e YT 4 695 TR 2
24. 4K F#ELoHI)
pay== 7 IR . Ot T IR : 6,52 7m
3 | 2 5w 12, 381
SR 16 T =HEF:5,854m




HX—4m2
SRTHERE  EEER ) B KB & AR R E < TR LA >
(HEEE B)

i =g HER i 20

x5 )4 & Bl Rl AL E ok 4
& %45 (m) | C &K BF I & )
I U . 2 0 fEpT I REL . 20,49 3m
ARt 4 AfEPT 31, 051
—HE 2 41ERT —HI:10,558m
sz LU PRR [+ ik 9, 050
ELNIEVIN 2, 285
SERE AR IR /K 9, 158
KT - YEd 0
i 20, 493
—HRNER [BK - Tk 7, 696
EUNITVIN 310
FERRE AR IR 7K 2,504
JKTE - B 48

&t 10, 558




H—4m2

BRNTAELEE  EEER) | EEK PG P R E < TR LA >
(HEEE B)
o e S i E
x4 )14 B Eo| i & e 4
&2 Xy (m) | C K B T &)
H2E)] 0.8 A TR B Sl 5 T
45 Bk - K| & b 1,247 TSR 2
(WEiT)In) 2.0k |ZFATHZERT LT (o5 1)
IE 5
G T s S 1,247| =@ : 1,24 7m
HAE) | 0.8k |4 TS T WS, Bk A B
46 ok oo oKl A N 798 R 2
(BRI L6k | FA TSN TR (Fito5 1)
i
B VT ks R W5 798| =& : 79 8m
Hat| 2 fEpT | =ER . 2 &7 2,045| =& : 2,04 5m
SR [k - Ak 2, 045
BEARIRK 0
HEhtE AR IR A 0
K 0

2, 045




H—4m2

BRNTAELEE  EEER) | EEK PG P R E < TR LA >
(EZE B)
o e S i E
x5 W4 Bl REo| L & e 4
&2 Xy (m) | C K B T &)
HAE) | 1. 6K WS, Bk A B
47 [/ N 3/ N IS mh o |RA TS ERT R 240 TR 2
(ZEE)N) 2. 0K (Bi+o 5 1)
AR 1. 8k
48 R N I N S me | FA TS ERT AR 240 W T A
(ZEI) 2. 0K
e
3 2T | ZE 2 FiT 480| =ML : 48 0m
B2 1. 0K
49 £ NI VN I € me ST 255|  WESBIE - AU S
(%77}_5}”) 1. 2K
H2E) 1. 6K
50 L N I N I A me|FRA SRR 432 WESBIE - SRR
(ZEI) 2.0k
B2 1. 4k W7 L
51 oKk - i K| A no ST SRR 215 TR A2
(Z ) 1. 6k (fito 5 1)
H2E)] 1. 8k WS, Rk R T
52 K - I K| A me|RA SRR 201 TR 2
(ZE)I 2.0k (Rt 5 T)
£
3 ARERT | SEE 4T 1, 103[ =R : 1,103m




HX—4m2
SRTHERE  EEER ) B KB & AR R E < TR LA >

(HEEE B)
i ek e oo o=
g )4 Rl FEO| AL B o 4
FE X4 (m) (K B I %)
A 6T | ZEE : 6 EAT 1,583|=&K : 1,58 3m
—EIRPNER [k - sk 656
ERAARTRZK 927
FLRE AR K 0
JR7K 0
5 1,583




FE—4 D 3

BRNTHE

ELHRER] ) | B 2K 5 18 Fir el 1 51l 25 < AR >

(HEE  A)

I i
g W4
& B

At

E
S

e A4

I

&

TN

i L3

L[

Hr FA 2

THEA R

2 | fHEJI

i T R e AT

sl
S52
AR AR E




BX—403
SRITARRE  ELEEAT) | R S B P | R = < AR >

(HZE B)
X Ay W
x5 )4 OB | Ro| L & o e A& 1t 2
w5 5y (m)
e 2.6k 941 | AR BN S Hr FA 2
L = L1 N O (. 7/ -
| 2.6k 30.8 |Fk HHE £ U F B RAE (F i)
e | 2.6k 3.2 |SA TR EITE S Hr FA 2
2 | HWE) | FE W -
Aol 2.6k 9.8 |Se4HE £ R B RAE (L37)
Yoo 7. 0K+131 K F A
S| I | T ME B Fe T b2 disg —
| 70K+ 80.5 Uk R B
/e 7. 8K+175 Hi F AR
CON )1 I I (C 7 Fe T b2 disg —
v 8. 0k A B2 R B AR
/e 7. 8K+175 Hi F AR
5| I | T ME B Fe T b2 disg —
H 8. 0k 4 BB B)KERE
/e 19. 4K+37 K F AR
6 #|A) | LT ((E7/ e T e R T 22 —
e 19. 4K+37 REg v
7E | 234K+ 88 [ T AT A ] Hr T
(=== | R N SO (R 7/ -
Fio| 23.4k+ 86 [EAETTREIRATRIR 18 ) KA
I B o 2 fE AT
ARt TET
—EF o 5T




FE—4 D 3

BHTHER  EEER]) 1 B KB & prR) R = < TR >
(EZEE B)
X 11 vl IR
x4 )4 B |Ro| AL & #oSE 4 fii %
& X5y (m)
H2AL) £ | 02k 19 WA
8 €T (8 7| S ZAIE 2R —
(ZEE)N) | 0.2+ 19 — IR
HAE)1 72 | 18K+ 55.3 Wi F AR
9 T O W 0 T2 N -
(Z ) Fio| 18K+ 9.5 T
HAE)1 7= | 1.8Kke207.5 Wi F AR
10 €T ({8 7] A2 —
(Z ) | 2.0k 15.8 PEdiRi
AR 3fEPT | ==K 3T




-4 m4
SROTHEREE  E R BB Kt P IRT ) R << L T >

] o] JEE-
SES R OIE OB (Rl i & o oE A fif E3
w5 5y (m)

Lok |FRATTRBETHE

L == 1 O 1= R N B Y = A 3, 050 =4 LHET T4
2. 0k A TR BIHEE
TR P e— Mﬁ%mifgﬁ%%%
2 | I o g7 B & o 1, 625 R6. 352
1.6k+105 |4 iR I H %
0. 0K+150 B)1] - B BF LA
3| BRI (IR A HR R K| ne | FA TR AT 300| JEIEA )
0. 4K+ 50 (H Ot 1)
T [ —— M%%M%igﬁ%%%
4 | BB P o B & Mo 1,765 R6. 35EAR

3.4k+3 A TR BETEE

REAEG I T it & P EE ) 1]

18. 8k+113 %%*ﬁ3§1$
5 H2E) o 7 Bl 2= BB Vi T VT 2 180 R6. 352k
19. 0k+62

19, 4k+55 |V g EE N 22 Ro#H3E) ||Zf§£"‘{$?ﬁ%ﬁ H Tk

6 H2E) | 7 lyz] S N 736 R6. 1252 5%

20. 0k+198 (Vg T ViR T 42 HE BT

20,2k |MEHETIEEAT 4 0 %ﬁﬁmﬁg?%ﬁiﬁ
T B\ pE 8 | E Mo 999 R6. 1252A%
21. 0k W T VR AR (L

20. 8k+179. 4
L. N Ny LN ) . H2E n /\L
s | N |lmom o sl = | e |mrmmEermL 620 M BRI
21. 4k+159. 5 R5. 1252h%
21. 4k+159. 5
L. (SN TN . H2E n /\L
o | N |l om sl = | e |mrrmEermL goz| MBI
22. 0k+143. 9 R5. 1252A%
25. 0K+140 [H)I] - i EEBR LS
10 | )| EpEHRRK | £ pi | S T i 40| JBIEA G

25. 0k+180 (H 0 T)




-4 m4
SROTHEREE  E R BB Kt P IRT ) R << L T >

I i A G
SES IRTIIES Bl |(Ro| i ' #o e 4 fif £
&L X5y (m)
25. 2K B)1 - AERBA LSS
1| HREE)I | RO | & me [T AT B 100 JEIEAH CoHEs)
25. 2k+100 (H O IL)
sy I B - 7 ST I RU 3,27 7m
i 1 17T 10, 017
—HE 4T —“#H:6,740m




HA—4m4
BRNTARE  EHER]) | K & ARl R =5 < SRR & A >
[ i V¥ ) G
x| )4 OB (Rl i & o e A4 14 L2
&5 S (m)
0.6k |FeA i@ [ HT W TR
12| #|EN || I R A N 2, 650
L.8k+115  [Ze4 T SZ HHET S21~832
0.6k+115  |Z&44 i N7 HHET RAFE 21| 57 [ s R 1 8 1 T
13 B |Er 7 b5 & "o 1, 822 R6. 352k
2.4k+130 | F4 R
TRAVE (BE5])
14| fHIJI (R f| A | 32060 |4 iRz
H21. 128458
7. 2K 44T B2 da st
15 | I | L HE s K| A N 4, 300 HoT B Y
LL 4K+ 160 |54y 2 L HT R 245
9. 2k+40. 8 RIFELE) | B AR 4 S S Lo
16 | fHIELJI | T HF fw T| A me 4TS BETIT 238 R3.11~RS. 3
9. 4k+80. 1 T L
16. 4k+100
L === 1 | R 1 = I 1 | B ) Y <} mh o |FA TSR O 180 =114y ifi L% Tl
16. 6k+80
)= IRz B U7 O & AT I B U7 O m
i 6 & T 9, 190
—HR 6 AT “HF:9,190m
g B YL - 7 AT R 2 3,27 7m
At 1 7 &P 19, 207
—ER 10T —HR:15,930m




FE—4 D 4

AT EEER]) 1 B KB & P RS < SR >
Ea] v sl I
x| )4 OB | Ro| L & e A 1 2L
&5 X4y (m)
I LK | RSN AR
18 ok 2= | e poo| AP IS
(WETTN) 2.0 |FA % EERT REIL
Fe 57 B . O & AT I B Om
3 1 &7 600
—ER L&A —HEF:600m
H2L)| 0.0k |Fe TS T I 2 45
19 AR A A | e 1,950| HIRITO BB
(BRI 21K |FeA L EHT TR
H2E) 1. 2k+51 RIFEIT) 1 2 B2 i T 5
20 FTH- 1751 W &) AN E-TAGE Sy | 189 R6. 355
(BE7T)I) 1. 4k +56. 1
apes I B U5 - O & AT 7 B U . O m
3 2 {4 2,139
—EHIE . 2 ET “HIE:2,139m
I B UL O T B UL : Om
&Ft| 3R 2,739
—ER o 3EAT ZEKF:2,739m




FE—4 D 4
B FNTAE BT

ELRE ] ) | E K o5 £ Pirin] ) 1At R 78 < By £ pr >

4 i
S Ro|l L & HoE 4 T e
5 X5y
1.8k-25 | ZATHZ T
21 N =I5y T i)
1.8k+50 | ZeA T Z REHT A L

1 &P

1 &P

B . Om
—“HKE:80m
B . Om

—“HKE:80m




-4 D5

ARNTEERL  [EEER]) | EEK B & prieg ) sl el 2 < BB M s >
(EZEEB)
i A R | i
x| 4 ooR R i & o e 4
F B %45 (m) | ( HE # & &)
13. 8k T T TR T
1| B B TR0 | A ~ 820
( ®E ) 14. 6k YR T YR T 3
15. 0k T T e T 4
2 | ¥ [ERL TR0 & ~ 280
( ®E ) 15.2k+100 | EEETTVEEE AT 47
16. 4k+100 | 3 HviEAL AT -E o e
3| ) BB TR0 & ~ 200
( ®E ) 16. 6k+100 | YEiE riTHEHE AT 5| 57 11
17. 0k YR T T 2 [
4| I BB TR0 & ~ 270
( ®E ) 17.2k+100 | JEEETITEEERT 4
17. 4k+100 W TH T 22
5 | I [ERNL - TR0 & ~ 810
( ®E ) 18.2k+100 | JEEETITHEEEAT 4
18. 6k YR T T 2 [
6 | HE) (B TR0 & ~ 210
( ®E ) 18. 8k YR T 22
19. 26+100 | YHEE TR BT AR 957
T HEE [ERN TR0 | A ~ 490
«( #E ) 19.8k | MEHEAYEEERT ARV
23. 4k+15 T T Ve T A ]
8 | ) (BN TRD| & ~ 60
( = ) 23. 4k+75 T T Ve T A ]
e
& 8f&ipT (MR o 8 AT 3, 140




-4 D5

ARNTEERL  [EEER]) | EEK B & prieg ) sl el 2 < BB M s >
(EZEEB)
i A R | i
x| 4 ooR R i & o e 4
e K4y (m) | ( E # & 5 )
6. 8k | FATRT Lz HH
o [ LI PEHN T A ~ 950
«( #E ) 7. 6k+57 40T TR
7. 8k+150 AT IR
10 | N [ER TR0 A ~ 250
( = ) 8. 2k ST TR
10. 4k A TTRTA
1| BN [ER TR0 A ~ 850
«( #E ) 11. 0k+150 | Fedn i % HEMT 2 355
11. 2k+50 | ZFATHZERTR .20
12 | B [ERh TR0 A ~ 250
«( #E ) 11. 4k+100 | ek 2 BERT G 2 5
11. 6k A T2 BERT R 2 90
13| BN [ER TR0 A ~ 4, 390
( ®E ) 16. 2k S, T 5 BEWT S oy
20. 8k+100 | VfpidL ifi Fe i BT 1By yar =
4 | B [ER TR0 A ~ 400
( = ) 21. 2k+100 | i i P IR HT BRI
22.4k+100 | YT R IR ETPIR
15 | $FE) [Egh - TR0 | A ~ 600
«( #E ) 23.0k+100 | YT FARIT IR
Epes
& 7HEAT (IR 2 &R 7, 690
—ZHIE . 5 EFT
Gt 1 5T (IR 1 0 AT 10, 830
—ZHIE . 5 EFT




X —4 D5
AT EEER] ) B KB & PR ) o < $E B EE MR R >

(HEEB)
i A R | i
xtg| )4 B [Ro| i & #oSE 4
F B %45 (m) | (EHE # &F 5 )

I BIANER IE Ad v - 9 < D 4,140

5 K 0

i 4, 140

—HEBEWNRE B - 3~ D 6,690
5 K 0

i 6, 690

aat & B - 3~ 110,830
5 K 0

i 10, 830




-4 D5

ARNTEERL  [EEER]) | EEK B & prieg ) sl el 2 < BB M s >
(EZEEB)
i ek ER | %
5| )14 ooR R i & o e 4
e 4 (m) | ( E # & 5 )
HAE)1 1. Ok A0 1% M 7 TR
16 i VAV N/l S ~ 980
(BEyTin | ¢ #= ) 2. 0k F T % T Bl
e
3 IRE 980
—ER 1T
HAE) 0. 2k e XA 2P
17 B - TR0 | A ~ 1,270
Bey)i) | ¢ 2= ) 1. 4k+50 F 4 T2 B MT T2
VEpes
3 IRE 1,270
—EE 1 EET
a3 2 T 2, 250
—EHFE 2 EET
SEEWNRE B L - N 0] 2,250
e K 0
3 2, 250
B B M R - T n| 2,250
e K 0

2, 250




X —4 D5
AT EEER] ) B KB & PR ) o < $E B EE MR R >

(EHEDB)
i ek ER | %
x4 )14 BBl EO| L E 55 (L 4
gé% lXﬁj\ (m) ( E %ﬁ %'é % )
FE2E)1| 0. Ok Z A TS EENT 240
18 ERAN - TR0 | £ ~ 1, 850
() | (. 2E ) 2. 0k 24T 5 FERT 75 I
Pt
3 1 5T 1, 850
—EE . 1EET
a1 1, 850
—EE . 1ERT
SEENRNE B R -+ R | 1,850
3 1, 850
a3t |E B R -+ = | 1,850
3 1, 850




